INSTALLATION INSTRUCTIONS

BOBRICK MODEL B-51815 REVERSIBLE SEAT WITH SWING DOWN LEG SHOWER SEAT

330
838mm \/\

13-3/8"
R1 (typ) 340mm 25?5?!.?”
> 20-15/16"
532mm
., {——1/2" Thick Almond
] Bz / Phenolic Top
‘ ‘—,—(: 1-1/2" i
] ] 38mm T I
20-15/16" L AN J
532mm 2172
GATm
14-7/16" ) — [ 10-1/2"
367mm 267mm
 — —
: ‘ 15-1/2" Adjustable
394mm 17" (432mm)
t0 19" (483mm)
P 13-3/4"
349mm
> Stainless
Crossmember
19-1/2" %
495mm ! ( D
Floating /
Ajustable Leg 9 Fixed Leg
) b
Left-Hand Seat Shown
Figure 1 Figure 2

1. Determine desired shower seat location and seat configuration.

- LEFT RIGHT I

¢ > ¢ > ¢ > ¢ >
° o ° o

WALL

SEAT CONFIGURATION

Determine desired location for the shower seat and corresponding seat configuration; left or right.

IMPORTANT NOTES

1) For stud wall construction, install backing (not furnished by Bobrick) (see Figure 2). Backing must be
provided before the finished shower wall is applied. Secure with (6) #12 x 2-1/2" Phillips Pan Head sheet metal
screws furnished by manufacturer.

2) For prefabricated shower stalls, adequate backing must be provided by the shower stall manufacturer (see
Figure 2). Secure with (6) #12 x 2-1/2" Phillips Pan Head sheet metal screws furnished by manufacturer.
Bobrick offers a mounting kit for installing shower seats. For additional mounting kits please order 252-30.
One mounting kit is required for each flange.

3) For concrete walls, provide fiber plugs or expansion shields for use with furnished screws, or provide
1/4" (6mm) toggle bolts or expansion bolts. Wall anchors not furnished by Bobrick.

2. Mounting the seat top to the frame.

Mount the seat top to the frame in the desired configuration.
Using four #10-24 x 2" Philips Flat Head machine screw and (4) #10-24 Nylon Lock Nuts (supplied by
manufacturer), secure the seat top to the frame. Torque screws to 20 ft-lbs.

continued . ..



3. Determine seat height from the floor and location relative to the inside back wall.

ADA regulations specify a finished seat height 17" to 19" above the finished floor and 1-1/2" clearance between
the seat edge and the inside back wall.

Place the seat in an upright position with the mounting flanges placed firmly against the shower wall.

Level the seat by changing the adjustable rubber feet to the desired mounting height (17"-19"). Tighten the lock
nuts.

With the mounting flanges placed flush against the wall, mark the position of the three holes in each flange.
Using a 1/8" Carbide tip drill bit (not provided), create three mounting holes each for the right and left mounting
flanges.

Use clear silicone sealer at each hole location to prevent water damage to existing structures as desired.

SAFETY WARNING: Shower seats are no stronger than the anchors and walls to which they are attached and
must be firmly secured in order to support the loads for which they are intended. Consult and comply with
local building codes. To avoid potential injury, the building owner or maintenance personnel should remove
the shower seat from service if the shower seat is not adequately secured to the wall. Unit shall support static
loads of up to 360 lbs. (163 kg) when properly installed and used. To avoid potential seat malfunction, DO
NOT use seat if weight exceeds 360 lbs. (163 kg).

4. Mounting the seat to the wall.

Holding the seat assembly in the down position, make any necessary final adjustments to the adjustable rubber
feet. With the feet resting firmly on the floor, tightly secure the two mounting flanges to the wall AND INTO 2"
THICK, SOLID WOOD IN-WALL BACKING MATERIAL, using six (6) #12 x 2-1/2" stainless steel screws (supplied
by manufacturer). Tighten screws completely AFTER all screws are in place.

5. Check Seat for:
1)) Proper up and down operation.
2) Correct finished height.
3)  Correct distance from wall.
4)  Weight bearing.

How to Reverse Shower Seat. The solid phenolic shower seat surface may be positioned on the stainless steel
frame with the longer 19-5/8" (500mm) side on the left or right (see Figure 1). The repositioning of the shower
seat surface may be done on the frame before installation on the wall, or after the unit has been installed.

If repositioning the seat surface before installation of the unit on the wall; place entire unit on a horizontal
surface; remove carriage bolts and acorn nuts (4); turn seat over reversing position of long and short ends;
reinstall carriage bolts and acorn nuts.

If repositioning the seat surface after the unit has been installed on the wall; lower folding seat to horizontal
position; remove carriage bolts and acorn nuts (4); turn seat over reversing position of long and short ends;
reinstall carriage bolts and acorn nuts.

Important Notes: This product should only be installed by qualified and trained personnel.

Failure to follow these instructions could lead to improper installation of the shower seat, structural and/or water
damage to the wall and in-wall support structures, and/or serious bodily injury in use. In addition, all warranties,
express or implied, will be null & void due to improper installation of this product. The manufacturer does not
assume any liability for damage resulting from services performed by others, or faulty installation, misuse or
misapplication of goods.

This product is designed to meet or exceed all load requirements established in the federal specification #ww-p-
541/8b at 250 pounds of force. The performance of this product is significantly impacted by the strength of the
wall to which it is attached.

To assure proper and safe installation, this shower seat must be installed into a minimum 2" thick, solid wood, in-
wall backing material. Make certain in-wall backing complies with all local building code requirements.

OPERATION:

Seat is automatically held in a raised position by a stainless cross member attached to the front and rear support
legs. When the seat is lowered into its down position, the Swing Down Leg automatically aligns the front and
rear support legs with the help of the stainless cross member.

In the U.S.A.: BOBRICK WASHROOM EQUIPMENT, INC.
6901 Tujunga Ave North Hollywood, California 91605-6213 « Tel: (818) 982-9600 « FAX: 818-503-1102

New York: 200 Commerce Drive, Clifton Park, NY 12065-1350 ¢ Tel: (518) 877-7444 « FAX: (518) 877-5029,
BOBRICK o i :
or email: customerservice@bobrick.com

Technical Data In Canada: BOBRICK WASHROOM EQUIPMENT COMPANY
© 2022 by Bobrick Washroom Equipment, Inc. 45 Rolark Drive, Scarborough, Ontario MR 3B1 « Eastern Canada: Tel: (877) 423-6555 « FAX: (877) 423-8555
Form No. 51815_ii 16/3/22 * Western Canada: Tel: (877) 423-6444 « FAX: (877) 423-8444



